
I 1 2 3 4 5 6 7 12 13 14 15 16 17 23 24 25 26 27 34 35 36 37 45 46 47 56 57 67 Y 198 I

Run  1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 30 ‐308 338 ‐45 1

Run  2 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 1 -1 -1 1 -1 30 343 ‐313 ‐123 2

Run  3 1 1 -1 -1 1 1 -1 -1 -1 -1 1 1 -1 -1 1 -1 -1 1 1 -1 -1 1 1 1 -1 -1 -1 -1 1 150 173 ‐23 60 3

Run  4 1 -1 -1 1 1 -1 -1 1 1 -1 -1 1 1 -1 -1 -1 1 1 -1 1 -1 -1 1 -1 -1 1 1 -1 -1 790 343 448 53 4

Run  5 1 1 1 1 -1 -1 -1 -1 1 1 -1 -1 -1 -1 1 -1 -1 -1 -1 -1 -1 -1 -1 1 1 1 1 1 1 150 173 ‐23 ‐115 5

Run  6 1 -1 1 -1 -1 1 -1 1 -1 1 1 -1 1 -1 -1 -1 1 -1 1 1 -1 1 -1 -1 1 -1 -1 1 -1 90 343 ‐253 ‐98 6

Run  7 1 1 -1 -1 -1 -1 1 1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 1 1 -1 -1 1 -1 -1 -1 -1 1 280 173 108 100 7

Run  8 1 -1 -1 1 -1 1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 -1 1 -1 1 1 -1 -1 -1 1 1 -1 -1 60 343 ‐283 ‐123 12

HE 198 -45 -123 60 53 -115 -98 100 -123 60 53 # -98 100 60 53 # -98 100 53 # -98 100 # -98 100 -98 100 -45 60 13

RHE [%] -23 -62 30 27 -58 -49 51 -62 30 27 -58 -49 51 30 27 -58 -49 51 27 -58 -49 51 -58 -49 51 -49 51 -23 53 14

‐115 15

‐98 16

100 17

60 23

Run  1 Run  2 Run  3 Run  4 Run  5 Run  6 Run  7 Run  8 a… 12 13 14 15 16 17 23 24 25 26 27 34 35 36 37 45 46 47 56 57 67 53 24

I 1 1 1 1 1 1 1 1 1 a0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ‐115 25

1 2 1 ‐1 1 ‐1 1 ‐1 1 ‐1 a1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 1 ‐98 26

2 3 1 1 ‐1 ‐1 1 1 ‐1 ‐1 a2 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 100 27

3 4 1 ‐1 ‐1 1 1 ‐1 ‐1 1 a3 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 53 34

4 5 1 1 1 1 ‐1 ‐1 ‐1 ‐1 a4 0 0 0 1 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 ‐115 35

5 6 1 ‐1 1 ‐1 ‐1 1 ‐1 1 a5 0 0 1 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 ‐98 36

6 7 1 1 ‐1 ‐1 ‐1 ‐1 1 1 a6 0 0 0 0 0 1 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 100 37

7 8 1 ‐1 ‐1 1 ‐1 1 1 ‐1 a7 0 0 0 0 1 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 ‐115 45

12 9 1 ‐1 ‐1 1 1 ‐1 ‐1 1 A=(X'X)^‐1 * X'X1 = (1/N)X'X1 Matrix of aliases ‐98 46

13 10 1 1 ‐1 ‐1 1 1 ‐1 ‐1 100 47

14 11 1 ‐1 1 ‐1 ‐1 1 ‐1 1 Likely interactions ### ### ### ### ### ### ### ### ### ### ### ### ### ### ### ‐98 56

15 12 1 1 1 1 ‐1 ‐1 ‐1 ‐1 100 57

16 13 1 ‐1 ‐1 1 ‐1 1 1 ‐1 ‐45 67

17 14 1 1 ‐1 ‐1 ‐1 ‐1 1 1
23 15 1 ‐1 1 ‐1 1 ‐1 1 ‐1 Fact. Code 12 13 14 15 16 17 23 24 25 26 27 34 35 36 37 45 46 47 56 57 67

24 16 1 1 ‐1 ‐1 ‐1 ‐1 1 1 Cst 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
25 17 1 ‐1 ‐1 1 ‐1 1 1 ‐1 T_m 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0 0 0 1 Vérif Matlab
26 18 1 1 1 1 ‐1 ‐1 ‐1 ‐1 ΔT 2 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0
27 19 1 ‐1 1 ‐1 ‐1 1 ‐1 1 RH 3 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0
34 20 1 ‐1 ‐1 1 ‐1 1 1 ‐1 N_T 4 0 0 0 1 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0
35 21 1 1 ‐1 ‐1 ‐1 ‐1 1 1 g 5 0 0 1 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 338 338 568
36 22 1 ‐1 1 ‐1 ‐1 1 ‐1 1 f 6 0 0 0 0 0 1 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 568
37 23 1 1 1 1 ‐1 ‐1 ‐1 ‐1 N_V 7 0 0 0 0 1 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 358
45 24 1 ‐1 1 ‐1 1 ‐1 1 ‐1 ###
46 25 1 1 ‐1 ‐1 1 1 ‐1 ‐1 ‐243
47 26 1 ‐1 ‐1 1 1 ‐1 ‐1 1 ‐173
56 27 1 ‐1 ‐1 1 1 ‐1 ‐1 1 ‐273
57 28 1 1 ‐1 ‐1 1 1 ‐1 ‐1 ###
67 29 1 ‐1 1 ‐1 1 ‐1 1 ‐1

an temperature, 2 = Temperature range, 3 = Dryness, 4 = Thermal cycles, 5 = Peak acceleration, 6 = Max. frequency, 7 = Vibration


